Quiz 3 |

MATH 334: SPRING 2012:

Please put your work on this page. Box your answers. Thanks and enjoy. You have 12 minutes to

complete this quiz.

Problem 1 Solve the following differential equations.

a. (D?+6D +40)fy] =0 :
((DJ:?)L-[- 31][":\] =0 T Y9=¢ e Teos T X + C;.Q:h}:m 31X

b. (D*+5D% —6)[y] =0

(0%8)(0%-1) 191 = (P*e) ()= (9] = 0
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c. (D-1%(D*+1)*ly] =0
= Cxex + Cxe’ + G s Kt G §inX + Gk Ce RS1h ><~

Problem 2 Let 7' = z2D? + D. Calculate T[ze”].
T(xer] = (x.zDz+ D) [xe*]
= x*p? [xe*) + D(xe™] }
w? (x"e* 2x ex) + x¥) )+ e” + xe*
= %% Re¥+ xg¥) +e*+ xe¥ = el x%+ | X )

)

Problem 3 Find an annihilator for

a fi(z)==z?

A= 0 +hlie s A = D*
b. fa(x) = cos(2x)
A=t 21 c > A?_ - Dz‘.l.q
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Problem 4 Set-up the particular solution for ¥” -+ 4y = g(z) in the cases (do not find A, B, ... ete..)
2 9(z) = Fila) = 2 e e
) 3 1 (DZ'FH)[%J":- %'
DY) (9) = P (x*) = — Awx?®
b. 9(z) = fola) = cos(22)
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P4\ ) 19) =(T%4) [w2d = o

W=, ees2x+ G Sihax + C3x G 2X + Cyxsm 2X
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g YW, = Axcrext+ Bxon 2x




